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f// BRI

public class Sample4_1
{
public static void main(String[] args)
{
/] BHEE CHIHEE
int numl = 15;
int num2 = 3;

// numl & num2 DUORIGTE
int add;

add = numl + num2; BNTEE x TIEEL

int sub; * (TAWANY &fBNE T
sub = numl - num2;

int mul; BID&EF + TEIREL

mul = numl * num2; / (A1) &fELNET

int div;

div = numl / num2;

// ETEHBRDOEND

System.out.println("fE" + numl + "&" + num2 + "(OUOAIFTE : ");
System.out.println("#0 = " + add);

System.out.println("Z = " + sub);

System.out.println("f& = " + mul);

System.out.println("& = " + div);

\J
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(E 15 & 3 DUOAIETE -
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System.out.println("ABC" + "DEF"); - ABCDEF
System.out.println("ABC" + 50); - ABC50
System.out.println(20 + 50); > 70
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(/) BsH=8DETOTS N

N
import java.io.*; <:::> <:::> <:::> <:::>

public class Sample4 2

{
public static void main(String[] args) throws IOException
{
/] F—R— R
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
/] BERBDZE
int numl, num2, tmp;
int div; /] B
int mod; /RO
/] BEDOAD
System.out.println("#EIRVETEIDE#¥n2 DOEHEANDLUTCLIIZSV) ");
System.out.println("1 DEDEHZANDLTCLIIES0, ");
numl = Integer.parselnt(br.readLine( ));
System.out.println("2 DEDEHZANDLTCLIIES0, ");
num2 = Integer.parselnt(br.readLine( ));
/] BROE )
mod = numl % num2; // %IRDZEFHEITIEET
/] BOE
tmp = numl - mod;
div = tmp / num2;
/] FEROES
System.out.println("=" + numl+"+" + num2 + "=" + div + "RO" + mod);
}
}
. J
E{TEHE
f#iﬂ%ﬁé%ﬂ@%# )
2 DY AN LT ES0N,
1 DBDEHEANDLTIZSUN,
11
2 DBEDEHEADLTIESL),
4
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(/) w18 - BV DUXY -
public class Sample4 3

{

public static void main(String[] args)

{
/] BHDOES CHERE
int a1l = 0, a2 = 0;
int b =0, c = 9;
System.out.println("al=" + al);
System.out.println("a2=" + a2);
// BIE « BET VDXV FDEN
b = al++;
C = ++a2;
System.out.println("f&E& « BIE1 VDXV FZLET");
System.out.println("&&1 22 'J X (b=al++;) b=" + b);
System.out.println("BI&1 V2D 'J XY k(c=++a2;) c=" + c);
System.out.println("al=" + al);
System.out.println("a2=" + a2);
// BIRTRANDE 118X DT
al++;
++a2;
System.out.println("8JRTRE « BIE1 VDV IUXY EETEEIT");
System.out.println("EBE& VDO UXT L al++; ");
System.out.println("BIE1 VO UXU L ++a2; ");
System.out.println("al=" + al);
System.out.println("a2=" + a2);

}

\}
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o rAssToESERORE LT
int n;

System.out.println(n = 10);
ETDE 10 NBEICENSINET

Vo Bnostic. BuERLEMERBRTZCEETEET
int n = 5;

n=n+ 2;

System.out.println(n);
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o EanErA RS T OREEROEIE LT

int n = 5;
System.out.println(n += 10);
EIDE 15 A BAEICEHDASINET

Vo Bnostic, BuERLEMERBRTZCEETEET

int n = 5;

n += n;

System.out.println(n);
ETDE. 10N BHEICEDSINET

&;@ BERABETOENILEREM SERATY
SHRABEFESOREERERAT B EFADENTT

V—=23— R4l
V=T 7+ )U% : Sampled_4.java
(1) watarA ST EELELE IS h
public class Sample4 4
{
public static void main(String[] args)
{
int sum = @; // #FtRADZEH. O THEIE
/] MEBARBDX Y-
System.out.println("3 DDEHDIEETEZRDET, ");
System.out.println("1 DBDEHII 3");
sum += 3;
System.out.println("2 DEDOEHII5");
sum += 5;
System.out.println("3 DEDOEHII 2");
sum += 2;
// FETDRI
System.out.println("#85t(&" + sum + "CI, ");
}
. J
ETEH
(3 comuonstERDED, h
1 DBDEHIT 3
2 DBDEHII 5
3 DEOEHIL 2
kﬁﬁﬁl@Tgo J
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YV —23— Rl

V=TI 74 )L : Sampled_5.java
(1) vorms
public class Sampled4 5
{

public static void main(String[] args)

{

int i = 2, ans;

/] VD~ EEH

ans = i << 1; // 1By REAN (218
System.out.println(ans);

ans =i > 1; // 1EvYRFEBA (0. 5)

System.out.println(ans);
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( Sy A
/] VD NBEOEE
public class Sample4_6
{
public static void main(String[] args)
{
int i;
short num = 5;

/7 Ev RAIED
System.out.print("YJ kBT ");
for(i = 0; 1 < 16; i++)
System.out.print(exeeel & (num >> (15 - i)));
System.out.println("(b)");

/] VD REBEER
num <<= 2;

// Ev R5IEA
System.out.print("V2J & ");
for(i = 0; 1 < 16; i++)
System.out.print(0xee01 & (num >> (15 - i)));
System.out.println("(b)");

}

.

XTEB

37 Bl 0000000000000101(b)
3D % 0000000000010100(b)
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